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Multiply or divide.

1. a. 38x10=

b. 38X 100 =

c. 38X 1,000 =

2. a. 87,000 +10=

b. 87,000 + 100 =

c. 87,000 + 1,000 =

3. 74xX10 =

4. 630,000 +100 =

5 52X = 5,200

6. 94,000 +- =94
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REMEMBER

7. Casey has 16 yards of rope. It is cut into 4 equal pieces. How many feet long is each piece?

8. Fill in the blanks to complete the number line and the statement.

6 yd

.

0 ft 3ft ft ft 12t ft ft

<
<

Y

There are feet in 6 yards.

9. The width of a rectangular garden is 6 feet. The area of the garden is 48 square feet. What
is the length?
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